
Check that all of the following items are included in both packages. If any item is missing, 
please contact DJI or your local dealer.

Propeller Blade Pair (CW) × 4 * Propeller Blade Pair (CCW) × 4 *

Landing Gear Leg (Left) × 1 Landing Gear Leg (Right) × 1Aircraft Body × 1
(With Propeller Holders)

Remote Controller Charger × 1 Power Cable × 1

Micro USB Cable × 1 Anti-drop Plate × 2

Remote Controller × 1

Remote Controller Lanyard × 1

AGRASTM MG -1S / MG-1S RTK

Propeller Holder × 4 *

In the Box

Please note that this list of items applies to the MG-1S RTK. Although similar, the MG-1S aircraft does not include 
the D-RTK antennas.



Power Plug Set × 1 *

Screws, Nuts and Washers

Screws and Nuts

Hex Keys

Air Filter × 1 *

Manuals

Spray Tank × 1

Spray Tank Plug 
(Left) × 2 *

Fender × 1

Hose ClampsSprinkler Kit × 2
(With XR11001VS Nozzles) 

Hose Clip × 1

AGRAS MG-1S / MG-1S RTK SPRAYING SYSTEM

M3 × 6 
M3 × 10 
M3 × 18
M3 × 22
Propeller Washers *
M4 Screws and Nuts *

Printed in China.

In the Box
Quick Start Guide
Disclaimer and Safety Guidelines

Download the full User Manual:
http://www.dji.com/mg-1s

1.5mm × 1
2.5mm × 1
3.0mm × 1

M3 × 5
M3 × 10 (Plus) 
M4 × 8
T3 × 8
Nuts for Hose *

Clamp A (Ø 11mm) × 4 *

Clamp B (Ø 8.4mm) × 10

Clamp C (Ø 7.8mm) × 4 *

* Spare items

YC.BZ.S01510.01

AGRAS is a trademark of DJI.
Copyright © 2017 DJI All Rights Reserved.


